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37 1 nmol 6- 1 nmol 6 -
1 nmol NADP+ 1 nmol NADPH
G6PDH(nmol/min/mg prot)=[(AA-0.0069)+0.0321]+ (V1xCpr)+=T=38.94%(A

A-0.0069)=-Cpr

3

37 1 nmol 6- 1 nmol 6 -

1 nmol NADP+ 1 nmol NADPH

G6PDH(nmol/min/g )=[(A A-0.0069) =+ 0.0321] + (W xV1+V) +=T=38.94x% (A
A-0.0069)+W
4

37 104 1 nmol 6- 1 nmol 6 -

1 nmol NADP+ 1 nmol NADPH

G6PDH(nmol/min/10 4 cell)=[( A A-0.0069) + 0.0321] =+ (500 x V1 + V) +T=0.078 x (A

A-0.0069)

5 G6PDH

37 1 nmol 6- 1 nmol 6 -

1 nmol NADP+ 1 nmol NADPH

G6PDH(nmol/min/mL)=[(AA-0.0069)+0.0321]+V1+T=38.94x(AA-0.0069)

V--- ImL VI1--- 004 mL W--- g

T--- 20 min
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Cpr--- mg/mL BCA
1. 1nmol/uL EP 0.6mL
-20
2. 0,0.2,04, 0.6, 0.8, 1. nmol/pL
3. 40puL +720uL +40pL 5min 450nm
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